ID:1210 P- 1

P g SR
2 W B #E7E Boal R
By 3% 4 Fn054£04 7 06 H eI Dt e/ 81 kv (Biir)
fh 4 JE Hh 0 = I T E=E e T fE g2y ]

X R = 10. 00| AHxf 295 2,950 756 617 324
IENE w5 10. 00 | #H5%f 650 6,500 1,944| 1,777| 1,188
H 3% £ % 15. 00 | #85F 112 1,680 1,512 1,308] 1,188
X D O 12. 00| AH%F 340 4,080 1,296 1,083 972
ESF AWII--N o JE 0. 20 | FH%f 1, 020 204 140 126 97
e aoo|kaxt| e8| ol | 1,836
H & 5 H 3. 00| FHxf 183 549 1,134 1,016 864
H A el 1. 00 | #H % 230 230 432 284 162
= | 5000 k%t | 27| 135|  2,700| 1,520] 540
5 X w5 4. 00| FH%f 12 48| 1,512 1,368] 1,296
A w5 2. 00 [ FH %} 201 402 918 813 540
LE L 5 4. 00| AR} 300 1,200 1,620 1,307 972
ENER a.00| fa%r|  se0| 1,440| 2,268 1,702| 1,080
[N w5 5. 00| FHxf 1, 408 7,040 1,998| 1,749 1,404
EN 5.00| #Exf| 120 600| 2,052 1,877| 1,404
[EZRIN ==— | 10. 00| fHxf 40 400 3,888 1,094 162
7 k< K i 3. 00 | FHx} 93 279 1,728 1,661| 1,296
a0 FoEk L 00| FHxf 30 60| 3,456| 2,358 1,404
w3 w5 5. 00 [ #H %} 90 450 1,944| 1,802 1,188

RS e YR 10. 00 | FH 5t 32 320 2, 160

A= 4 AbiEiE 10. 00 | #H%f 8 80 702
£ # AbiEiE 20. 00 | #H 5%t 26 5201 2,538 2,469 2,376
(= | 10,00 Mxk| 420 4,200] 1,206 1,028] 324
LA A e fE 10. 00 | #H%f 720 7,200 2,592 1,782 1, 350
P=—1F g [ 4. 00| FB%F 610 2,440| 1,728 879 324
Tayal— w5 6. 00 | #H %} 195 1,170| 3,888| 3,371| 2,376
ENIE 6.00 fxt| 20| 174| 3,996 3,814| 3,564

L xon & A 4. 00 | FHxF 3 12 2, 484
AEMEE w5 0. 10| #Hxf | 2,450 245 146 101 65
ZDEH E B 0. 20| FAxf 840 168 60 46
LU E % 0. 20 | FH %} 950 190 86 63 39




1D:1210 p- 2

P g SR

2 W B #E7E Boal R
Rz A F1054£04 H 06 H EFER S 42 b (Biir)
fh 4 JE Hh = (Mo | E=E e T fE g2y ]

HEAM JEE I 10. 00 | #H%F 412 4,120 2,484 2,390 1,944
Folag— e K 4. 00| fHxf 155 620 4,104| 3,565| 3,240
bHFEED & [ 0. 27| FAx%F 6, 319 1, 709 410 360 216
S xE & I 0.25| fHxf | 11,716 2,941 432 332 194
BHDY S 5 0.25| #Hxf | 6,370 1, 595 346 262 130




